SKOFH;: ok HF oo OB &EF R
TR 2%4H817H
St. Mmoo XR | ER B R | AKE | BEWIE b/ S s | ki
B n/s m m A m C
1 9:55 0] 7 S W j. 0 7.3 2.8 2.56Y3/2 0. 5 12.3
2 12.0
B 10.6
1’ 10:15 © ] w 2.0 10.8 4.0 2.56G6Y3/2 0. 5 11.3
2 11.0
10 i0.0
B 10.0
2 10:30 © 9 WNW 2.0 24.0 6.6 2.56Y3/2 0. 5 10. 6
2 10.2
10 §.7
B 9.0
2’ 11:00 © 9 N W 4,014 30.0 6.7 563/2 0. b5 10. 2
2 10.2
1 0 9.6
20 9.2
B 8.8
3 11:15 (] 8 N W 4.01¢ 47.1 7.0 563/4 0. 5 10.3
2 10.3
10 9.0
20 8.8
30 8.6
B 8.5
4 12:10 0] 8 N W 6.0 79.0 6.9 563/4 0. b5 9.9
2 9.9
10 9.9
2 0 9.6
30 §.2
B 8.2
5 13:07 ) 8 N W 6.0 12.2 4.0 7.56Y4/4 0. 5 10. 8
2 1107
B 10.4
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SU B\B: ok B R OdN o SR
TR 2% 48250

St. o™ X®R | IR R 1t BE | KE | EWIE 7 S ] BawE ] okin
B3 mn/s m m I T 2 m C
1 9:50| O 2 - - - 2.5 - 0. 5 | 13.5
2 | 12,9
B | 12.1
1 10:10 | @ 2 - - - 4.3 - 0. 5 | 12.4
2 | 12,0
1o | 111
2 10:30 | O 2 - - - 4.5 - 0. 5 | 13.4
2 |11.8
1o | 11.4
2" 10:45 | O 1 - - - 2.5 -~ 0. 5 | 12.9
2 | 11,9
10| 11.1

5L F2 oy Hr oWl JW RE H2

T 2E5H8 3]

St. m M} xX®r | [R B i R | k&E | EWIKE K& mmg | kg
R A mn/s mn n @ HFF m ‘C
1 10:15] © 10 - - ~ 1.9 - 0. 5 | 16.9
2 | 156.3
B -
1| 10:30| © 10 - - - 2.5 - 0. 5 | 15.5
2 | 15.8
10| 13.9
2 10:50 | © 10 - - - 2.9 - 0. 5 | 16.9
2 | 16.4
101|135
2" 11:05| © 10 - - ~ 7.2 - 0. 5 | 15.17
2 | 15.3
10 13.8
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5\ FH ok B W1 I o SR
TR2%5022H
St. o W X® | BR R im B | kB | OB WK K @ mawMg | kid
B A m/s m m eE¥HS m C
1 9:35 | o 6 N 2.0 7.2 2.4 56Y4/4| 0. 5 | 15.2
2 | 16.1
B | 14.8
1 9:57| o 6 N 1.5 14.5 1.5 5GR3/4) 0. 5 | 16.6
2 | 16.1
10| 14.1
B | 13.56
2 10:10| o 6 | Nw 3.5 21.5 1.5 5YR3/4| O. 5 | 16.6
2 | 16.6
10| 14.0
B | 12.6
2| 10:30| o 7 N 5.0 27.7 3.8 2.563/2] 0. 5 | 15.4
2 | 15.4
10 | 14.2
20 {128
B | 11.2
3 10:48] © 8| Nw 6.0 47.0 2.6 | 10YR3/2 | 0. 5 | 15.%
2 | 15.6
10| 14,5
20 |12.8
30| 10.8
B | 8.8
4 11:35| © 9| NW 6.0 78.5 5.2 563/2 | 0. 5 | 15.2
2 | 15.2
10| 13.6
20 [13.4
30 11.8
B | 8.4
5 12:25| o 7 wNw/| 3.0]12.8 2.5 | 2.56v3/4| 0. 5 | 16.6
2 | 15.2
B | 13.8
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S|OF sk H Wl W oaE B
T 2% 6 A8 6H
St. oW X% | 2R & B E | ok E | & W B BWE | kg
B n/s m m e ES m C
1 9:35 @] 0 - - - 2. - 0] 5 19.8
2 19.6
B 19.4
1’ 9:48 O 0 - - - 5. - 0. b5 19.6
2 19.2
1 0 15.8
2 10:00 O 0 - - - 5. - 0 5 20.3
2 19.7
10 16.0
2" 10:15 O 0 - - - 6. - 0 5 19.7
2 18.7
1 0 15.5
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S ok H: Wl A oaE SR

. TR 2%6 8154
St. oW | XKk | ER A i ok | Kk E | B WK X & mwa | ki
LS U m/s m m ey ES m °C
1 10:00 ( 10 N 0.5 7.2 4.0 2.5G63/4 0. 5 19.2
2 19.2
B 18.7
1 10:20 o 10 N 1.0¢ 11.8 4.9 2.5G3/4 0. b5 22.12
2. 20.8
1 0 18.4
B 18.13
2 10:28 ® 1 0 E 2.0 24.90 5.6 7.5G63/4 G. 5 21.6
2 21.6
10 18. 4
B 12.0
2 10:52 o 10 E 1.5 3J4. 90 5.5 7.563/4 0. 5 21.6
2 21.6
10 18.2
2 0 11.9
B 9.8
3 11:04 © 10 N E 2.0 45.5 5.8 2.563/4 0. 5 21.7
2 21.17
10 17.1
20 10. 9
30 8.9
B 9.2
4 11:48 (@) 10 N E 2.001 77.5 5.5 7.5G63/4 0. b5 22.2
2 22.2
10 17.1
20 11.3
30 10.2
B 8.6
5 12:37 (] 10 N E 3.0 16.5 4.1 7.563/4 0. 5 22.0
2 21.9
B 18.5
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BTSSP TRESR

PR2%4817H
o | sia b O COD | NN [ NO,-N [ NO,-N | Org-N | DIN [PO,-P | T-P Si0, | T-Fe | S-Fe |mwwsa | W)t
BEl o m | e | % PH ng/l | mg/l | me/l | we/l | we/t | me/l | mg/l | mg/l | me/l | wme/l| wg/l| wg/l | col./al

9:55/0. 5| 11.12| 1073700 2.83 | 0.06| 0.006| O.2t| 0.24| o0.28{<0.001| 0.011] 209| - - 13.2 -
2 10.82 | 104.6 | 7.56 | 2.56 0.04| 0.015f 0.35| 0.33| 0.41}<0.001( 0,017} 1.83] ~— <1 9.9 0

B 10.83 | 100.65)6.28 - 0.02} 0.006) 0.20f — 0.23 | <0. 001 - 1.63) — = - -
10:15 2 10.33] 96.8)7.42) 1.80 0.02| 0.007( 0.18( 0.27f 0.21(<0.001| 0.006f 0.93] — <1 3.7 0

10:30) 0. 5| 11.27| 104.6)7.16] 1.86 0.02{ 0.003) 0.23] 0.14) 0.26{<0.001| 0.004] 1.04] — - 17 -
2 10.75| 98.9|7.41] 1.88 0.03] 0.007] 0.21} 0.23| 0.25{<0.001| 0.003| 0.71| -— <1 18 ]

10 1147 98.9(7.19 — 0.03f 0.008{ 0.24] — 0.28 | <0. 001 - 0.96| — - - e

B 1108 99.1]7.04 - 0.03} 0.008) 0.23{ -— 0.27 | <0. 001 - .00 - - - -
11:00f 2 | 10.45] 96.1[7.42( 190 | 0.02] 0.008{ 0.20f 0.21) 0.23|<0.001] 0.005{ 0.79] ~— <1 2.2 0

11:15] 0. 5| 10.93( 100.7(7.22] 2.07 0.02{ 0.012f 0.19| 0.19) 0.22(<0.001| 0.003|{ 0.96] -— - 21 -
2 11291 104.0{7.43| 1.34 0.02} 0.008|] 0.18| 0.20| 0.21(<0.001| 0.003{ 0.62{ — <1 2.2 0

10 10.94| 97.8|7.12| -— 0.02) 0.011] 0.19}) - 0.221<0.001| - 1.00f — . - -

20 10.95( 97.37.06 - 0.02} 0.008| 0.18] - 0.21 | <0. 001 - .00 — - - -

30 10.89  96.47.07 - 0.02]<0.001| 023 — 0.25 | <0. 001 - 0.961 — - - -

B | 10.83] 9.1{7.04| — 0.01| 0.010} 0.19] -— 0.21 | <0. 001 - 1.0} - - = -

12:101 0. 5 1L17] 102.0{7.24] 1.74 0.02| 0.010( 0.20| 0.18{ 0.23|<0.001} 0.002| 0.62] — - » 26 -
2 1131 103.317.46| 1.51 0.01{ 0.008; 0.16| 0.23| 0.18|<0.001| 0.003{ 0.58] — <1 2.2 0

10 11.24] 102.6 [7.30}| 1.51 0.02} 0.008f 0.21| 0.25| 0.241<0.001 - 0.66f — - 2.7 -

20 | 10.97]| 99.5/7.23| 1.45 | o0.02| 0008 0.20{ 0.15( 0.23|<0.001| - 0.66( — - 31 -

30 11.30 | 101.4{7.16) 1.80 0.01] 0.009}/ 0.19| 0.14} 0.21 <0.001 - 1.04f — - 2.8 -

B | 10.55} 92.5{7.09] 1.70 0.021 0.012] 0.1 0.12( 0.22}<0.001) 0.004| 1.25| -— - 3.4 -

13:07| 0. 5} 11.50] 107.2}7.19] 1.92 0.02| 0.010{ 0.24} 0.16f 0.27}<0.001] 0.007]| 1.29} - - 2.0 -
2 1149 106.9[7.45] 1.59 0.01) 0.006) 0.22| 0.18) 0.24(<0.001) 0.008| 1.04| — <1 31 0

B 1136 105.07.20 - 0.02] 0.018) 0327 -— 0.36;<0.001| 0.005} 1.2t - - - -
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ZIRETSF TR TEIL

PIR2E4A 32508
st LitPL BRI e D (6] oH COD [ Nlig-N | NO,-N | NOy-K | Org-N | DIN JPO,-P | T-P Si0, | T-Fe | S-Fe juwsba | a1
055l m nl/l % mg/l | omg/t | we/l | me/) | wg/t | o/t | mg/) | me/t | ome/t | aeg/V | oweg/t | g/ col. /m}
1 9:50 2 - - 8.3 2.96 0.02] 0.012{ 0.05] 0.18] 0.08) 0.002} 0.004 - 480 <1 10. § 0
1" 1 10:10 2 - - 8021 2.15 <0.00} 0.008] 0.05f 0.16] 0.06] 0.001} 0.001 - 78 <1 5.6 0
2 10:30 2 - - 7.69| 1.98 <0.01| 0.008| 0.05f 0.14| 0.06( 0.001 | 0.002 - 67 10 4.0 0
2' | 10:45 2 - — |8.05f 2.28 { <0.01] 0.011| 007! 0.11| 0.08} 0.001) 0.003] — 141 3 8.7 0
FBTSI I TREEL
Pk 2ES5 A8H
st Lir R R D (o] H COD | Nil;-N | NO,-N [ NOs-N [ Org-N | DIN }PO,-P | T-P $i0, | T-Fe | S-Fe |[umha | W'V
P
B5E) | w nl/l % we/t | me/l | me/t | me/t | me/1l | mg/) | ome/t | we/t | owe/t | we/t} ous/t] ug/l col. /ml
1 10:15 2 - - .76} 2.79 0.01] 0.0011] 0.24f 0.23| 0.272) 0.003§ 0.022 - 153 13 16.3 H
1" 1 10:30 2 - - 7790 2.17 | «.01| 0.009] ©.22] 0.15| 0.23} 0.003] 0.011 - 82 4 6.6 i
2 10:50 2 - - 7.93) 2.19 0.01f 0.008{ ©.21| 0.15{ 0.23§ 0.003} 0.010 - 114 13 8.3 i
2§ 11:05 2 - - .77} 1.B3 <0.01] 0.007] 0.20| 0.06] ©.21] 0.003] 0.005 - 15 9 2.6 i

—493—




BT ST ATHESR

FR2#E5822H

BN (BWa{ D O COD | N-N | NO,~N |NO,-N |Org-N | DIN [PO,-P | T-P | Si0, | T-Fe | S-Fe |2nwoaba | W't
St BHl m | e/ % pH sg/l | m/l | mg/l | mg/l | wg/1 | mg/l | mg/l | we/t | wg/l | ug/l| wg/t) us/ col. /ml
1 8:35/10. 5] 1123} 118.0(8.32} 0.26 0.01) 0.009] 0.19} 0.23] 0.21}<0.001} 0.006 1.12 - - ‘ 15.2 15
2 | 1145 120.0|8.65] 1.19 | 0.01] 0.010| 0.17{ 0.27| 0.19| 0.000} 0.002] 1.18] 73 3 191 52

B | 10.81] 110.2]800] — 0.01) 0.008] 0.16{ -— 0.18}<0.001| — 1L05) — - - -

'] 57| 2 f 1197 125.5)8.65] 0.84 | 0.01| 0.006f 0.09] 0.22| 0.1 0.001| 0.002] 0.82] 17| <1i| 133 56
2 | 10:0f/0.5( 1184} 1253897 4.98 | 0.03| 0.004| 0.07] 0.57] 0.10| 0.001{ 0.006] 0.74] - - 6.4 445
2 | 1235 1307028 3.26 | 0.04] 0.005] 0.07[ 0.24} 0.12f 0.001| 0.007| 0.82 18 2| 465 333

10 | 10.84( 108.6)8.06| — 0.01] 0.007| 0.15] — 0.17)<.001{ - 0.74 - - - -

B | 10.37] 100.8]7.63| — 0.03[ 0.007| 0.17] - 0.21[<0.001] — 0.74| - - - -

2| 10:30] 2 | 11.68] 120.7 (8. 94| 1.63 | 0.04f 0.006| 0.11| 0.31] 0.16| 0.001| 0.010| 0.82 4] 1| s 4
3 | 10:48]/0. 5| 11.78] 122.2(872| 2.04 | 0.0t 0.006| 0.12] 0.3z o.14]<0.001] 0.001} 0.65] — - 27.1 26
2 | 1.8t 122.5]8.94| 1.44 | 0.03] 0.004] 0.10{ <0.01 0.13| 0.002| 0.002{ 0.69 14| <1f 3.8 38

10 | 10.90] 110.7]812f - 0.01{ 0.008| 0.16 — 0.18[<0.001] — 0.65) — - - -

20 | 1w.53] w0z87.72) - 0.03{ 0.008| 0.18( — 0.22|<0.001f - 0.65) — - - -

30 | 10.52) 981|788 - 0.03] 0.008] 0.22] ~ 0.26 {<0.001| — 0.82] — - - -

B | 83| 8n.4(7.40] ~— 0.01}<0.001] 0.26 - 0.27{ 0.o01| - L0s| —~ - - -

4 | 11:35/0.5] 11.33] 116.6]843| 0.30 | 0.01] 0.006] 0.14] 0.19f 0.15| 0.001| 0.001| 0.65| - - 115 2
2 { 1128 116.0{862| 0.16 | ©0.01f 0.006) 0.13| 0.2 0.15[<0.001| 0.003| 0.69 15] <1] 109 8

10 | 10.87| 108.1[800] - 0.01] 0.008| 0.17f — 0.19|<0.001] — 0.65| - - 40 -

20 | 10.33) 1022|764 - 0.03( 0.009{ 0.19f — 0.23{<.001| - 0.78{ - - 1.5 -

30 | 10.35] 98.8(7.50{<0.01 | 0.03] 0.009| 0.24] 0.09| 0.28| 0.001} 0.001| 0.74] - - 1.7 -

B 974 8.7{7.39]|<0.01 | 0.03f{<0.001| 0.25( 0.16| 0.286| 0.003| 0.004| 1.18] - - 0.8 -

5 | 12:25]/0. 5] 10.56] 1223|864 0.74 { o0.02| 0.005] 0.11] 0.25] 0.14] 0.001] 0.002| 1.54] — - 23.1 3
2 | 164 122.3{884( 1.18 | 0.03f 0.005] 0.11| 0.31] 0.15( 0.002) 0.005{ 18] 70 5| 249 50

B [ 10.95] 109.3/8.20] — 0.03} 0.008| 0.15( — 0.19<0.00t| — Loo| -~ - - -
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TRBA ST ITRESR

k246 68
st f.itpi] D O H COD | Nl-N | NO,-N | NO,-N [Org-N | DIN | PO,-P | T-P Si0, | T-Fe | S-Fe |mmwaa | W'
P

53 »li/ % me/l | wg/t }ome/l | we/l | me/t | me/l | owg/t | we/l | ome/t | wg/t| we/l| wg/h col. /m}
1 9:35 - - .54 2.40 <0.01) 0.012 0.22 0.30 0.231 0.002] 0.009 1.32 147 1 <1 0
1’ 9.48 - - 7.76] 2.73 <0.01] 0.006f 0.13] 0.231 0.13] 0.001| 0.007 1.32 31 4 1.5 0
2 10:00 - - 7.80} 2.92 <0.01} 0.004| 0.13| 0.18{ 0.13| 0.001] 0.007] 0.97 14 <1 1.2 0
2' | 10:15 - - 7.78] 2.85 <.01) 0.005| 0.12} ©0.20 0.13} 0.000¢ 0.003| 0.97 7 <1 0.7 0

—495—




B ST HTRESR

TR246HA15H
oW (oW D O - COD | Nig-N | NO,-N | NOs-N {Org-N | DIN {PO,-P | T-P | Si0, | T-Fe | S-Fe |umha | "'t
LVET] m nl/! % e/l | mg/t | mg/t | owg/l | e/t | omg/) | omg/t | ome/l | omg/t ] oug/L | g/t g/l col. /ml
10:00/ 0. 5 970 108.07.86| 1.64 | <0.01| 0.005} 0.09] 0.59| 0.10} 0.001| 0.001 123 — - 4.3 -
2 | 1006 112.3{812 2.95 | <0.01) 0.004} 0.10] 0.20] 010} 0.001( O0.000} 1.15 8 2 1.3 3
B 9.84| 108.617.81| — <0.01| 0.004| 0.10f — 0.10] 0.001] — 0.714] - - - -
10:20 2 | 10.15| 116.5(8.28) 3.36 | <0.01| 0.004| 0.10{ 0.18] 0.10] 0.001| 0.001{ 0.83 1 <1 43 0
10:2810. 5 9.49) 110.517.83| 1.62 | <0.01| 0.004} 0.09| 0.21{ 0.09f 0.001] 6001} 1.55| -— - 29 -
2 9.52| 110.81820| 1.42 | <0.01| 0.004f 0.09] 0.20| 0.09{ 0.001| 0.001] 2.72 <1 <1 i1 0
10 9.611{ 105.4(7.74] — <0.01) 0.0041 0.10) -— 0.10f 0.001| -— 1.55) — = - -
B 9.52¢F 9L3)7.3| - 0.01] 0001} 0.21] - 0.22{ 0.001 - 0.88] — - - -
10:52 2 9.911 115.48.28| 3.54 | <0.01[<0.001| 0.09| 0.22f 0.09} 0.001| 0.001 1.01 <1 <1 5.8 6
11:04{ 0. 5 9.46 | 110.3[7.84| 1.66 0.01) 0.004| 0.09{ 0.20] 0.10 - - 0.74 - - 29 -
2 9.38) 109.3{814f 2.75 | <0.01| 0.004f 0.08} 0.21] 009} 0.001| 0.001} 0.97 <1 <1 2.9 0
10 9.871 105.6 {7.90| — <0.01| 0.004) 0.10] - 0.10f 0.001} - 0.61f — - - -
20 | 10.10] 94.4)7.39} - <0.01)<0.001] 0.21] — 0.21] 0.001] — 0.65| — - - -
30 | 10.14| 92.6;7.32( — 0.01)<0.001| 0.22] — 0.22] 0.001] - 0.83; — - = -
B 9.70) 871729 - <0.01{<0.001}| 0.23 - 0.23{ 0.001 - 258} -— - - =
11:4810. 5 9.16) 107.8|7.80§ 3.14 | <0.01| 0.004| O0.10| 0.09| 0. 10[<0.001) 0.002f ©.61] — - 31 -
2 9.50; 111.8/8 16| 1.52 | <0.01} 0.004| 0.08| 0.23] 0.09) 0.001] 0.001| 1.15 <1 <1 3.2 1]
10 9.79( 106.0(7.78{ ~— <0.01} 0.004| 0.1t - 0.11[<Q.00t)] — 0.52] - - 43 -
20 § 10.12| 9551737 ~— <0.01]<0.001} 0.227 - 0.22{<0.001| — 0.7¢) - - 1.6 -
30 | 10.07| 92.6|7.39( 2.39 | <0.01]<0.001| 0.24} 0.09| 0.24{<0.001| 0.00t] 0.92) — - 0.9 -
B 872 7.2(7.29} 1.31 | <0.01)<0.001} 0.25| 0.12| 0.25 0.001| 195} — - 1.1 ) -
12:3710. 5| 891 104.5/7.85] 1.64 | <0.01{ 0.004| 0.09{ 0.20| 0.03{ 0.001) 0.001{ 0.97| — - 36 -
2 9.54| 111.6 {815} 1.48 | <0.01{ 0.004] 0.09] 0.22| 0.09( 0.001) 0.001} 1.19 191 — 36 (1]
B 9.70 | 106.6(7.85f — 0.01] 0.004] 0.11} -— 0.11f<0.001{ — 0.61 -— - - -
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